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Find the Norton equivalent circuit of the network as shown at the terminals marked xx " in the circuit. (100%)
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The first step is to find the Norton equivalent current in, this short circuit current can be found by using

superposition method.
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We turn off the voltage source (short) to find the short circuit current isc1 contributed by the current source for

ports xx” . We can quickly find out that the current isc1 is 0.
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Then, we turn off the current source (open) to find the short circuit current isc2 contributed by the voltage source

for ports xx .
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Second step is to find the Norton equivalent resistance R.
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Finally, the Norton equivalent circuit of this circuit network can be drawn as follows:
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